



नाम: \_\_\_\_\_

दिनांक: \_\_\_\_\_ स्कोर: \_\_\_\_\_

$$\left(\left(\frac{3}{4}\right)^2 - \frac{2}{3}\right) \times \frac{1}{2} + \left(\frac{3}{5} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{2} - \frac{3}{2}\right)^2 - \frac{3}{4}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{3}\right) \times \frac{1}{4} - \left(\frac{1}{3} - \frac{3}{5}\right)^2 =$$

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{3}\right) \times \frac{1}{2} + \left(\frac{3}{5} + \frac{1}{6}\right)^2 =$$

$$\left(4 + \frac{1}{3}\right)^2 - \frac{3}{4} + 2^2 \times \frac{1}{2} =$$

$$\left(5 - \frac{1}{2}\right)^2 - \frac{1}{4} \times \frac{1}{3} + 4^2 =$$

$$\left(\frac{1}{6} - \left(\frac{1}{2}\right)^2\right) \times \frac{2}{3} - \left(\frac{2}{5} - \frac{1}{6}\right)^2 =$$

$$\left(3 - \frac{1}{4}\right)^2 - \frac{1}{3} + \frac{1}{2} - 2^2 =$$

$$\left(2 + \frac{1}{6}\right)^2 + \frac{1}{4} \times 2^2 + \frac{3}{5} =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{2}\right) \times \frac{1}{3} + \left(\frac{1}{4} + \frac{1}{4}\right)^2 =$$



नाम: \_\_\_\_\_

दिनांक: \_\_\_\_\_ स्कोर: \_\_\_\_\_

$$\left(\left(\frac{3}{4}\right)^2 - \frac{2}{3}\right) \times \frac{1}{2} + \left(\frac{3}{5} + \frac{1}{2}\right)^2 = \frac{2779}{2400} = 1\frac{379}{2400}$$

$$\left(\frac{1}{2} - \frac{3}{2}\right)^2 - \frac{3}{4}\left(\frac{1}{2} + \left(\frac{1}{2}\right)^2\right) = \frac{7}{16}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{3}\right) \times \frac{1}{4} - \left(\frac{1}{3} - \frac{3}{5}\right)^2 = \frac{269}{3600}$$

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{3}\right) \times \frac{1}{2} + \left(\frac{3}{5} + \frac{1}{6}\right)^2 = \frac{7457}{7200} = 1\frac{257}{7200}$$

$$\left(4 + \frac{1}{3}\right)^2 - \frac{3}{4} + 2^2 \times \frac{1}{2} = \frac{721}{36} = 20\frac{1}{36}$$

$$\left(5 - \frac{1}{2}\right)^2 - \frac{1}{4} \times \frac{1}{3} + 4^2 = \frac{217}{6} = 36\frac{1}{6}$$

$$\left(\frac{1}{6} - \left(\frac{1}{2}\right)^2\right) \times \frac{2}{3} - \left(\frac{2}{5} - \frac{1}{6}\right)^2 = \left(-\frac{11}{100}\right)$$

$$\left(3 - \frac{1}{4}\right)^2 - \frac{1}{3} + \frac{1}{2} - 2^2 = \frac{179}{48} = 3\frac{35}{48}$$

$$\left(2 + \frac{1}{6}\right)^2 + \frac{1}{4} \times 2^2 + \frac{3}{5} = \frac{1133}{180} = 6\frac{53}{180}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{2}\right) \times \frac{1}{3} + \left(\frac{1}{4} + \frac{1}{4}\right)^2 = \frac{1}{2}$$